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1 = 2 Numbers to Five (2) ) L 1 = 3 Numbers to Five (3)

-

<»[FE0E Write the number and read it. <=3 Connect the same numbers with a line.
#58ome | | | 8o | | | £ oot 8353 11| W one 853 |
Write the numbers and read them. Connect the same numbers with a line.
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88888 three four o |
00000 VA AR A L d | 3
00000 four A A A five

00000 ~ [~ [~ 00000 4
ooooo) five Ty Tyl two © {5000 ?

4 5

W JICA_14F_fREMRER_P002-046. indd 2 $ 2022/02/25 13:10:26(




——

1 = 4 Numbers from Six to Ten (1)

<»[3EnE  Colour in the number of O .

2o 00000 ol
s 00000 W “xas(82589

-I .
l_‘l Colour in the number on .

NS 000"
@ ® 2 S 00000
& ®® 00000
00000
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12 Colour in the number ofO .

BB QS 555 92
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hWEReS 888 85
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L 1 - 5 Numbers from Six to Ten (2)
<»[FEniE Write the number and read it.
090 (00w 6666

Write the numbers and read them

T . R .

L 1 - 6 Numbers from Six to Ten (3)

<»[F&n3 Connect the same numbers with a line.

)@= e | W ﬂi@

Connect the same numbers with a line.

nine ¢ \ 2 |

ten O

i 1

6
0
8
9
7

eight ©
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L 1 = 7 Numbers to Ten (1)

<*EELE Colour in the number of O .
Write the number in the[ ].

“w '@ clock_[2]
lel -./
:“ ) Lemon
& ooooo
. OOOOO

Colour in the number of O Write the number in the [ |.

: *Flowers

PRSP R H
T "‘W I, ‘esese
L RalBi s
Cron e o 'Pf | 28888

L 1 = 8 Numbers to Ten (1)

<eEE Write the numbers in the [ .

Find the answer by co
Write the numberin[ ].

H ‘ﬁﬁﬁﬂ
DO oy n

e
e b e

48

bahska ks lE

L 1 = 9 Numbers to Ten (3)

<»[EELGB . Which has more? Puta v inthe[ |.

soo soal,
LR i Db il X bbb

26.2

o
[1[] [ ] [vs

Which has more? Puta v inthe |:|
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0‘00

X

..00
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L 1 -10 Counting (1)

~[3EB  Count and write the numbers in the blank.

»
& OO &K
VARV

Count and write the numbers in the blank.

AASAAALASE

()

OX COEOmD
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L 1 = 11 Counting (2)

1 =12 Zero

~ 3B Count and write the numbers in the blank

|_1—I Write the number and read it.

00000 ”
OO000) Z€ero | |

Count and write the numbers in the blank.

~EE0HE. Write the number in the [ |

5

4]

6

7/[8] 2

(ol N7 8]

- » B[

(2! Write the numbers in the[ .

G 4

L 1 =13 Review

/3! Which has more? Puta v inthe[ |.

LI—I Write the numbers inthe [ |.

3

L
'y Y

-]

AL A

256 34

IR

IF
4

qOO QQ

AL A

(19 [N

I_l._' Count and write the numbers in the | |.

-
W'lﬁ

| H2H 317415

4

o

(2! Write the numbers in the[ |.

seven four

nine

il 7@@ '3

| FET

1

17
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How Many & How Many?
Five

(2-1

Many?
Six

2 2 How Many & How
-

<»EEniB 1 Write the number in the [ |.

<= [3En5 1 Write the number in the |:| .

[pEan] B [pEan] A, [pEEn] 2] [EEn] 7,
5 = 4andD‘5» 4 and 6 =» 4andD‘6» 4 and [2]]
|_1—| Write the number in the [ ]. |_1—| Write the number in the [ ].
[ i) o1y o1y
d
o 5 - 3 an 1,2,3 or o 6 » 3 and 1,2,3,4 or
9 RS o 52
®© 5 = | ad [4] ®© 6» 5 aa []]
o Sia, S o Ensaa)
© 5= 2 AP © 6w | ad [5]
SeEEnB 2. Write the number in the [ . <[EELRB 2 Write the number in the [ |.
T =} [Eaan] =} [EaEn] ] T3 ]
5 =» DandD*SIb andE;/ 6 =» DandD*é# and

I_z—l Write the number in the |:|

i) )
@ 5H » and
] RN
(2] 5 = |I| and
] o
® H » and

(2] Write the number in the |:|

O ¢ =» [2]a
oa»m

i) )
© 6 =» [3

How Many & How Many?
Seven

(2-3

How Many & How Many?
Eight

(2-4

<»[EELRB 1 Write the number in the [ |.

<»[EEB 1 Write the number in the [ |.

[mapl T
®| 7

SandD

1 4

7 =»

Gaan” 4
3 and [4F 8

0 oo

2andD D s

-»

—I .. .
|1 Write the number mﬁt%e [ ]

—I . .
1! Write the number inthe [ ].
I_ l

arriJ maangy]

O 7= 2 ad e ®© 8 = 3 and
ey 7 6? rrres T

O 7 » 5 and O 8 » 5 and
! A A S o

© 7 = 4 aa [3] AVA © 8w 7 aa [[]
<EERB 2 Write the number in the [ |. <»[EELRB 2 Write the number in the [ |.

T a0
7 =» DandD »

77

509
7 =» and

M AT
8 =» DandD

8 =» . andw

2—| Write the number i |n the |:|

0O 7=
07» and

5 oy
© 7 & [[|]|ed 6]

20

2—| Write the number in the |:|

08->m
® 8 » 5] an

Orrrry
© 8 =» [§]

ﬁﬁ

21
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How Many & How Many? How Many & How Many?
2 = 5 Nine 2 = 6 Ten (1)
- J - J
<»EEnB 1 Write the number in the | |. < [EELGE Write the number in the [ |.
=] T &3 [EEaEE) RERERt
9w 2and| | P9 = 2 and om 5 and [ | |®
1! Write the number in the . Write the number in the .
; W %C_Fﬁﬁﬁ i
© 9% 4 ma [5] O 10» 8 e [2
g 2o Fr D
O 9 » 6 aa [3] o 10=» 6 ad [4]
o G 6  grrao
®© 9 = 3 aa [6] O 0= | e [9]
mi) rrrrrrid
<»EEB 2 Write the number in the [ |. O 10w 2  and
B s aaaan) el 119 REREEN
9w [Jand[ ]| 9 =» 0 |10=» b ad  [6]
Irrrery )
|_2—I Write the number%nﬁthe . (6 ) IO = 7 and
mEn REEREEE!
O 9 =» and @ I0» 3  and
mannn 7y
ey a
© 9= [5] - [4 O 10™ 9 s [[]
© 9w (8w [l]
22 23
How Many & How Many? How Many & How Many?
L 2 -1 Ten (2) ) L 2 - 8 Make Ten (1) )
=»[3€na How many and how many make 10? <»[FEnplB Write the number in the|:|.

msnsn) [Eaann) d K
10 ® DandD I an Dmae |0.

s Jud
Eaang) (TT7TJ | and make 0.
[0 = and

Write the number in the |:| .

Write the number in the [ ] to make 10.

(T Crrrrrey
[0 = and o3andmake|0_e4and@make|o_

o
ety 3

O |10» @ and |I| 05andmake|O_Q7andmake|O_
1 Ty

O |0=» 2| and
983ndmake|0_023ndmake|0_

0 0= and
a1y Arrrrd

o (0= nd @ (7] |and@make|0_0Qandmmake|0_
& rrfrrrriy

O 0= and 6 and make | Q. 8 and make | Q.
1] e 9] o ®

O I0=» @ and . =
T e Get familiar with the numbers to make 10. 4 N

O |10=» and i
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How Many & How Many?
L 2 -9 Make Ten (2)
<>EEnllE Write the number inthe [ |.
([ @R | [ and [ make 10

[E=ssssanan, T and ake 0,

Write the number in the |:| .

O (@ AEEEEel | [ 4 ]and [ 6] make 0.

EEFAEEEEEy | | | |and [ G | make |0.
&) [8]ana [ 2] make 10,
3 ons [T mate 10
6 and [4 ] mae 10,
5 ons [5] mate 10
7 and [3] e 10.
@) [9]ana || |make I0.

I

117

}

o(® }
o }
] }
o (D )
] }
o }
o }

(Trrrd (rrrrd

(Crrr(ry rJ

(s

26

How Many & How Many?
2 = 10 Review

= . .
1 Write the numbers in the |:| .

@ 5 is 3 and @ 6 is 5 and |I|
© 7 is 4 and O 8 is 4 and
® 9 is 3 and @ ® 5 is | and
o 7 is 2 and 0 9 is 2 and

I_z—l There are 10 blocks. How many blocks are hidden in

the )
| 2 3 45 6 7 8 9 10
yd
HEEEEREEN
(1]
BEEERREE
blocks
(2]
blocks
(3]
blocks

27

Adding Together and Adding More
Adding Together (1)

<»[FEnE How many balls are there if you put them together?

o]

Answer balls
1! Write the pl bol
L plus symbol.

_I_

I_Z—I Write the equal symbol.

(O
@—.

|_3_| Read the following questions and find the answers.

o How many hats are there if you put them together?

3+2=]5

soo(==

Answer | 5 | hats

e How many horses are there if you put them together?

o)) 22

Answer | 4 | horses

28

e How many T-shirts are there if you put them together?
N

(MR G ] it
14

0 How many bananas are there if you put them together?

JIII )] ‘b

9 How many pencils are there if you put them together?

Answer | 4 | T-shirts

Answer | 5 | bananas

N

[T 27l
! Answer | 5 | pencils

o How many tomatoes are there if you put them together?
0>< ®® U

Answer | 3 | tomatoes

o How many cups of coffee are there if you put them
together?

N oA 3+ 1 =4
S S®) (] oo [ o

|4 A of coffee

0 How many books are there of you put them together?

¢ 1 11 IRasE

Answer | 5 | books

29
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Adding Together and Adding More
L 3 - 2 Adding Together (2)

<»[3EnriE Write this as math sentence and find the answer.
N

CRCLARNS
Y Answer atches

Write these as math sentences and find the answers.

o I+ 1 =12
ﬁ) Answer | 2 | rabbits
(2, o L+ |1 ]|=]5
‘/ ‘/ ‘/ ‘/ ><0/ Answer | 5 | guitars
(3] : ‘ 3+ 1| =4
. .‘><. Answer | 4 | watermelons
o , 2+ |1 =13
. . Answer | 3 | vases

I+ 13 |=|4

© , .
5% G0 rover| 4 | o

30

Adding Together and Adding More
Adding More (1)

J

<»[3FmE How many pens are there if you add two more pens?

34 2=
Answer pens

Read the following questions and find the answers.

o How many birds are there if one bird comes?

2+ 1 =13

Answer | 3 | birds

e How many glasses of juice are there if you order three
more?

| +3=1]4
Q\.D Answer 4 glasses

of juice
0 How many buses are there if two more buses come?

MM 2+2=|4

o How many carrots are there if you add one more?

L (A
Answer | 5 | carrots

Answer | 4 | buses

31

Adding Together and Adding More
3 -4 Adding More (2)

| J

<»[FEn3 How many cars are there if two more cars come?

PEY-TY 5+|2]=
L es

Answer

Read the following questions and find the answers.
o How many flowers are there if you plant three more?

m b+ 3 |=|7

Answer | 7 | flowers

Q How many rabbits are there if two more rabbits come?

b+ |2 ]=]6

Answer | 6 | rabbits

e How many bananas are there if you buy four more?

1!1!1!1’ IEIEAU b+ 4 |=]8

Answer | 8 | bananas

0 How many loaves of bread are there if you bake one

more?
m E’ Answer | @ | loaves
of bread

32

Adding Together and Adding More
Addition (1)

35

<»[3En13 Solve these addition problems.

11 &

-
03+|= O 1+2=3]

Solve these addition problems.
iy 1y 1 11
®© 7+2=]9 @ 3+4=\7

Ty 79 &3 iy
® 6+2=/8| O 3+6=9
1 Frrrrs rrrrrrd 9
© 2+5=|7| © 7+1=38
T O g o
O 5+1=|6| © I+3=|4
T3 19 Ty

O 5+2=[7| ©® 2+7=|29

= Nannana) (5
® 1 +6=|7 ® 3+5=8

33
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Adding Together and Adding More
Addition (2)

<»[FEn3 Solve these addition problems.
0 +1=[z] @ 245-[f

Solve these addition problems.

®© | +2=3 O | +4=\5
® 2+6=|38 0O i{+2=|6
O 4{+1=5 O 3+1=|4
@ H+4=\9 O 2+4=|6
O 6+1 =7 O 2+2=|4
@ 3+2=|5 ® 4+5=|9
® |1 +8=79 ® 7+3=|10
® 5+5=|10 O | +5=6

34

Adding Together and Adding More
Review (1)

3-17

l_l—I Write these as math sentences and find the answers.

o How many cupcakes are there if you put them together?

v pcee,

e How many cupcakes are there if you put them together?

Answer | 5 | cupcakes

B9 O L
Answer | 4 | cupcakes

|_2—I Solve these addition problems.

O 5+1=¢6 O 1 +8=|9
® 3+2=|5 0O 2+6=|38
0 6+1 =7 O 7+2=9
® 5+3=|38 O 3+4=|7
O 4i+1=|5 ® 6+0=|5¢

35

Adding Together and Adding More
Review (2)

3-8

|_l—| Write these as math sentences and find the answers.

o There are two cups of tea. One more cup of tea is
ordered. How many cups of tea are there now?

S — 21+ 1 |=1]3
Fop= LD

Answer cups of tea

O There are four notebooks. Two more notebooks are
bought. How many notebooks are there now?

v +12]=[6]

0 There are three flowers. Three more are put in the
vase. How many flowers are there altogether?

Answer | 6 | notebooks

S 3l+|3|=6
‘ <:] Answer | 6 | flowers

|_2—I Solve these addition problems.

O H5+4=]9 O 4+6=]|10

® 9+1=|10 0O 4+3=|7

O 3+0=]3 O 0+9=|9

36

Adding Together and Adding More
Review (3)

3-9

|_1—| Write these as math sentences and find the answers.

o I have five pieces of candy. My brother has three
pieces of candy. How many The math sentence
candies are there together? ~ fr @ample.

mmmmmw@mmm

Math .
S:ntence 5 + 3 8 glaenCeyso

Answer

e I have four caps at home. | bought two more caps.
How may caps do | have now?

A‘MM’IIGIM’

Math
S:ntence 4 + 2 6

Answer caps

9 There are three ducks in the pond. Four more ducks
come. How may ducks are there in the pond?

é%%m§§%§

Math
S:ntence 3 + 4

Answer ducks

I_z_' Solve these addition problems.

O 7+2=]9 ® 5+1=|6

37
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4 -1 What is Left? (1)

& J

<»[3En3 There were three oranges. | ate one of them.
How many oranges are left?

ove) 1,
Answer oranges

|_l—I Write the minus symbol.

|_2—I Read the following questions and find the answers.

o There were five balloons. Three of them flew away.
How many balloons are left?

(X L
¢« balloons
e There were four cars. One of them moved.
How many cars are left? 4— ] =3

SRl

0 | had three flowers. | gave my friends two flowers.
How many flowers are left? 3 9=

/?

Answer| 3 |cars

flower

Answer | |

0 There were five books. Three of them were sold.
How many books are left?
5—-3=|2

g8 55§

Answer| 2 | books

e There were three cupcakes. One of them was eaten.
How many cupcakes are left?
3-1=]2

Answer| 2 | cupcakes

o There were four birds. Three of them flew away.
How many birds are left?

L H
® & &

'] ? - || bird
o There were two eggs. | ate one of them.
How many eggs are left?
2—1=\1
Answer| | |egg
0 There were five fish. Oné of them swam away.
How many fish are left?
MM Rmg TEg S-1=]4
Mg < - 7 Answer| 4 |fish

o | had three pieces of candy. My brother ate two pieces.
How many pieces of candy are left?
3—2=11

Answer| | | piece of

candy

39

40

| 4 = 2 What is Left? (2) )

<»[FEnE There were five notebooks. | gave my friends
two of them. How many notebooks are left?

5-2]=[3]
Answer ‘otebooks

Read the following questions and find the answers.

o | had four pieces of candy. My brother ate two pieces.
How many pieces of candy are left?
4= 3 |= |

Answer| | | piece of
candy
o There were five rabbits. Three of them ran away.

How many rabbits are left?
5—- 3 |= 2

bl )

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, rabbits

9 Four buses were parked. One of them drove away.
How many buses are left? 4 | 3

=

o There were three butterflies. One of them flew away.
How many butterflies left? | 1=l 2

'.\l/.‘ '.\l/.‘

Answer| 2

3 | buses

92 | butterflies

<»[FEnriE There are five biscuits. Three of them are ‘.

L 4 = 3 What is Left? (3) )

How many &2 are there?

Answer ‘)ISCUItS

Read the following questions and find the answers.
o There are seven fish. Five of them are “®wg .

How many are there?
7—] 5= 2

“4!‘-( ﬂk‘( Answer| 2 | fish

e There are eight buttons. Four of them are @
How many (9 are there?
; 8—| 4 |=| 4

Answer| 4 | buttons

s. Two of them are .
How many @ are there? 5—| 2 |=| 3

PAS4S,

0 There are six cars. Three of them are il .
How many (Eiﬁ;j are there?
6—31|=3

Answer| 3 | balls

Answer| 3 |cars

41
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| 4 = 4 | Subtraction (1)

<»[FEn3 Solve these subtraction problems.

| 4 = 5 | Subtraction (2)

<»[FEnlE Solve these subtraction problems.

\ 4 -6 | 0 (Nothing Left)

X | ate one tomato. 3_ |I| .
How many are left?

N, | ate three tomatoes. 3- . ﬁ
How many are left?

<»[3EniE Write the math sentences and find the answers.

.2 bags were sold. _
How many are left? -1 2 7 2
.4 bags were sold. _ _
)/ How many are left? 4 415 0
. 3 horses ran away. 3= 2
How many are left?
.5 horses ran away. 5 |= 0
/ How many are left?
*. 5 lemons were used. , 5 =| |
How many are left?
6 lemons were used. _
/" How many are left? 6 6 50

44

| 4 = 7 | Math Sentence

<»[FEnls Complete these math sentences.

0 :-[5]-[3]

Complete these math sentences.

45
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4 -8 Review ]

I_I—I Solve these subtraction problems.

(5]

@ 4-2= ]2 ® 8-5= 13
©®© 3-3=10 ® 5-5=10
® 10-6= 4| ® 10-9= | |

Write the math sentences and find the answers.

o There were six trucks. Four of them drove away.
How many trucks are left?

T il i . Math —
‘Wmﬁ Answer| 2 | trucks

e There were seven ice cream cones. My friends ate four
of them. How many ice cream cones are left?

e Math _
2 ﬁ f\ 24222 "‘u,.'sentence 7—-4=3
AAALL RN

€ There are four houses. Three of them are . .
How many are there?

@

0 There are five T-shirts. Two of them are
How many are there?

; . Math E—2=23

"' TP sentence

Answer | 3

Math
sentence

4—3 =

Answer house

T W

T-shirts

|_3—| Connect two math sentences with the same answers
with a line.

Engcaicn
——

13

46 47
@ There are four E and two . How many more
4—2=| 9
<»[FEnE There are five \ and three \ .
How many more \ are there than \ : Answer| 2 | chairs
5—3= Q There are six 4 and three <= . How many more
1. y A are there than < ?
\\\ """""""" ) Answer spoons “ ‘ ‘ W . """""""""""" 6-3=| 3
: " : " : " Answer| 3 |caps
Read the following questions and find the answers.
94 , 0 There are seven @ and five ‘ . How many more
0 There are four ‘ and three . How many more @ are there than " ?
@ arethere than 7 ) 2 J— .
. P 7-5=| 2
- sesesee
‘ ‘ ‘ ‘ ‘ Answer| 2 |tomatoes
Answer| | |orange )
; ; ; o There are eight ‘ and three / How many more
@ There are three «ss¢ and two “™®=< . How many @ are there than /?
| 8-3=| 5
: Answer| 5 |onions
Mg Mg Answer| | | yellow fish
o m five dtwofo H © There are nine §®8 and five Gio. How many more
_There are five "~ and two [ ;*. How many more P here than S3a?
« are there than [ 7? 6% are there than o?
5-2=| 3 9-5=| 4
Answer| 3 | chicks Answer| 4 | motorcycles
48 49
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What is the Difference?
What is the Difference? (2)

(52

<»EznrE There are six \ and three D

How many more \ are there than { '\ ?

NN NN [oss
“‘ Answer pencils

Write the math sentences and find the answers.

o There are seven <=5 and two é How many more
<=4 are there than é'?

N e R

é é Answer| 5

e There are eight U>f@j§m and four Q . How many more
P are there than [

Q%QQ

o There are nine |

7—2=5

boats

|8—4=4

Answer | 4 |trumpets

> and three . How many more

What is the Difference?
What is the Difference? (3)

J

~[FEnE What is the difference between the number of \

andﬂ'7

4
6—5=| ?
Answerm

Write the math sentences and find the answers.

@ Whatis the difference between the number of '
and ]_‘_P’7

W\Iﬁ’ T 7-5=2
"@' ' Answer | 2

o What is the difference between the number of y

’;,\ ”f\ ”f\
’;\v A V A V
v “' v Answer| 3
0 What is the difference between the number of“qg
and >=e?

52

Write the math sentences and find the answers.

@ Thereare five \ and four @ How many more \ are
there than ‘Y ?

6666

@ There are seven w4 and four . How many more
ess- are there than@?

5—4=|

Answer| | |pencil

st e g #“4 7777777 A
FE T

0 There are six @ and two ’ . How many more
are there than ?

1 7—4=3

Answer| 3 |airplanes

6—2=4

Answer | 4 | chocolates

0 There are eight ¥ and three '\ .
are there than * ?

How many more ¥

& o 8-3=5
‘\ (117 Answer| 5 |roses

Write the math sentences and find the answers.
o What is the difference between the number of @

Qo [1-:-:
O " OO s

e There are eight vases. Six of them are sold.
How many vases are left?

© There are six T and two ﬁ How many more TFT

are there than ﬁ’?

8—6=2

Answer| 2 |vases

6—2=4

Answer| 4 |tables

o Nine cars were parked. Seven of them drove away.

How many cars are left?

Answer cars

| are there than | 1 *%, - *% *%
i 9-3=6 a3 8—6=2
| R s PR
1] 7 ® Answer| 6 |cups *%7/ S %,\ )% Answer | 2
g g =
e
50 o 51
What is the Difference? What is the Difference?
5 = 4 Review (1) 5 = 5 Review (2)

53

14
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Numbers Greater than 10
6 =1 10to 20 (1)

&

<»[EEuplB Count and write the numbers in the [ .

When we make a
group of |0, there are

P
000000
\ooooo |

e iiiit

one group of |0 and |.

When we make a

[3)

N$E85§5

group of |0, there are
one group of |0 and 2.

Numbers Greater than 10

10 to 20 (2)

O~
1
N

&

<SeEEIEE. Write the numbers in the [ .

=]
=,

B
i)
>

=] [m] .

O O Pay attention to how many groups
E l0and | E |[0and 4 of 10 and O. If there are |0 and
O make | |. |B| make |4. I itis Il (eleven). If there are 10
- - and 2, it is 12 (cwelve). Also there
E E E are |3 (thirteen), |4 (fourteen),
O m O O 15 (fifteen), 16 (sixteen), |7
m m (seventeen), |8 (eighteen), 19

(nineteen) and 20 (twenty)!

\' \' \“ \t \t \t \t
‘ft‘{:\ﬁ‘(t‘(t &(ty Write the numbers in the |:| . -
hateda de Dl @ @ 5} o
O s wu = = = =
D T T T e e [ | [ ] | ]
L o = L -
>~ It is important that there are a group of |0 and how ] — ] —
@%D many. When there is a group of 10 and |,itis |I. — — |:| — — D
@ —— When there is a group of |0 and 2,itis |2. — — |:| — — D
o O @O o |B O O
I B B E B 5 B =5
Count and write the numbers in the |:| . () O (=) O () O (=) O
86088 €08 o) el Lozl
o ®° ¥ @ ¥ @ 9 @
FCECETE 66 3 16 12 B
54 55
Numbers Greater than 10 Numbers Greater than 10
L 6 -3 10to 20 (3) ) L 6 = 4 10 and How Many )
<»EELRE Write the numbers in the [ |. <»[EEmE How many blocks are hidden?
Write the numbers in the |:| .
OorE
= :(I) and | make oEEE :(Zand 4 make % 5
. % 3 ; 3
Write the numbers in the [ |. ﬁ 2 (3] } 5 ;
0 0 e :
¥ o 7 T )
P) ® o HaBEEEn How many blocks are hidden? Write the numbers in the [ |.
o 0 0 0o
8 o 1 T ) a3 | 0 | 0 | m
O O O [
1 o mm g g o g
O O O O 4
5 ¢ O 3 |8 7 ||B B
|3 | EOEEEEEEEE) | | | EEOSS00EED) - - - B
5] 5] 5] m
EEE DEEEE O g O =
0 0 | | | 1]
19 o 4 T )
What is (5) EEEEEEEEE]
5 EEEE made by ﬁ O
o @ [0and 102 ¢\ I/® : : ’
6 (DEEEEEDEED) 20 (DEEEEEEEED) 0 g 0 0
DEEEEE IEDDEDEEED —— ———
56 57
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Numbers Greater than 10
Number Line

(65

~[EETD How far did the 74 go? Use the number line to find out.

J

0O | 2 3 4 5 6 7 8 9 1011 1213141516 17 18 19 20
| I A Y

12

How far did each animal and arrows go? Use the number
line to find out.

Numbers Greater than 10
Numbers that is ( ) More than ( ) )

2

<»[Z&niE Find the number by using the number line.

\OH\?@M 15 16 17 18 19 20
L1 I N I

The number that is 2 more than |3. | 5"

Find the numbers by using the number line.

© 1 zasseras muEs KB D BEEE RSN S
(1 AV VYV YA Il @ The number that is 4 more than |2. 6
I I S S O B | 1
e \: |3 e The number that is 3 more than |4. |7
I I S Ay N | I
(3 d | 4 @ The number that is 2 more than | 1. 13
I IS I I —
o , |5 o The number that is 5 more than |3. 18
A | -
9 > |7 6 The number that is 2 more than |0. |2
| Sy Iy | e —
(6] > 18 O The number that is 4 more than |5. 19
I I I L
> The number that is | more than |7.
o > [I9 o 8
I I Sy |
58 59
Numbers Greater than 10 Numbers Greater than 10
L 6 = 7 Numbers that is ( ) Less than ( ) ) L 6 = 8 Larger and Smaller Numbers
<»[FEn]E Find the number by using the number line. <»[E&ngia Circle the larger number.
2 1
LlirroerrenvE@ypeEyY o (] e[
The number that is 2 less than |3. | A,
|_‘I—I Circle the larger number.
Find the numbers by using the number line. 0 9 @ ) 8
0 I 23 4 5 6 7 8 9 10111213 14151617 18 19 20
e e I |
o The number that is 4 less than 19. 15 e 5 0 @ 12
9 The number that is 2 less than | 4. 12 e 13 @ o 16
— 5
0 The number that is 3 less than |7. |4 @ Circle the smaller number.
— o ()| 10| e 2|0
@ The number that is 8 less than |8. 10
9 The number that is 3 less than |2. 9 o @ 5 0 @ 9
@ The number that is 8 less than 15. 7 (5] 13 o 20
- Use the number line!
isb Il
o The number that is 5 less than 6 23 es e U s
60 61
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6 9 Numbers Greater than 10

Count and Find the Numbers

<»[EEl Count and write the numbers in the [ |.

o {2}{ e} @ {iz}{u}{is}[e]

Count and write the numbers in the [ |.

(1) (2)
A10RlIlHI2F 915 16H 17+
(3) (4)
41314715 9 17H18H19120
(5)

A0 12— 14161820
o How many numbers

| 5 [ '7 [ q L || are skipped?

13— 15— 17

62

Numbers Greater than 10
Addition and Subtraction (1)

(6 -10

<»[EELRIE  Find the answers and write them in the [ |.

ooooo

O 0+5 :

Find the answers and write them in the |:| .

©® o0+2512 ® 2-2=10
() )
) )
= =
= =
|m I |
= H =
) )
| N H | =
O . | =i
(A

® 0+ |7
([
g A
o
=
o
| =
o -
B
=
oy

O o0+4= 14
=)
)
=
)
=
)
)
=
)
()

@ o0+ 19

OOOOO000000

63

Numbers Greater than 10
Addition and Subtraction (2)

6 -1

-

<»[EEnlE Find the answers and write them in the [ |.

0|2+5= em—s:ﬂ

Find the answers and write them in the |:| .

5+2= |7 O 1:+5=19
E /; E Ao
i e
== B
o o o g ;
i B R B
® 6+1=17 O 2+6= 18
O 7+25 19 O 13+3= 16
@ 6-5= 11| O 5-3=12
g F
= g
o I
H niE‘,r"
H g8
O 7-7510 @ 19-4= 15

@ 1s-1513 ® 18-4= |4

64

6 12 Numbers Greater than 10

Review (1)
|_I—| Find the numbers and write them in the |:| .
@ The number that is 4 larger than 12. 16
e The number that is 2 larger than 18. 20
e The number that is 5 less than 19. |4
o The number that is 3 less than |3. 10

0 1 2 3 45 6 7 8 9 1011 12131415 16 17 18 19 20
e e sy Iy By

|_2—I Count and write the numbers in the [ ].

O 12131415

O 1516171819

© - 58 —HIIl4—17/720

|_3—| Find the answers and write them in the [ |.

O 4+3=17 O Il +8=19

© 12+4=16 O I5—-4=]1]

O 18-6=12 O 16-6=10

65
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Numbers Greater than 10
6 = 13 Review (2)

|_1—| Find the answers and write them in the [ |.

1-1

&

Hour

<»[FEniE Read the time.

o 12 +5=|17 e 15+ 3 =18 The analogue clock has 2
hands, one long (minute
hand) and one short

— — (hour hand), that go

© Il+4=[15| © 17+2=|19 (hour

The long hand is on |2 and
| | | 2 | | the short hand is on 8.
= — = ‘When the long hand is on

e o + 6 6 o 3 12,it says| | o’clock.

Q@ 17-4=]13 O 18—-3=1b

© 17-7=10 ® 15-5=10 —

10 | o'clock
|_2—I Circle the larger number. —
T® ; =
o e 2 | o'clock 12 | o'clock
o[@[ 2] o[@[s
6 | o'’clock
|_3_' Write “+” or “— " inthe O to make math sentences. L
o 10 5= 15 o |7 7=10 Don't forget to write )
e the units. ¢ U ©
© 15(-)3=12 @ 12(+)2=14 7 olock 3 olock
66 67
) I_z—I Read the time.
7 = 2 Half-Hour
- J
Seinstruction Half past 9 Half past 10
o'clock o'clock
Short hand | Points at 8 Points between 8 and 9 Points at 9
Long hand |Points at 12 Points at 6 Points at 12 Half past |12 Half past 5
Reading |It's eight o’clock |It's half past eight o’clock It's nine o’clock o'clock o'clock
® The long hand goes from 12 to 6, and the short hand goes
from 8 to 9. N N
® When the long hand is on 6, it is half pastD o’clock. SeEELRB2] On r'ght or left, which clock shows half past
8 o'clock?
Left
|_3_| On right or left, which clock shows half past 7 o’clock?
Right
}i Half past o'clock
I_l.—' On right or left, which clock shows half past | o’clock?
e ..... . Left
E o'clock }ﬁi Half past m o'clock
68 69
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[ﬁm Review

|_'I—I Read the time.

9 | o'clock 10 | o’clock

2 | o'clock || o'clock

3 | o'clock 12 | o'clock
|_2—| Read the time.

7 o’clock 8 o'clock

5 o’clock 4 o'clock

I'l o’clock 6 o'clock

70

|_3—I Read the time.

JHalf past o'clock
\ ii Half past o'clock

Half past 9 Half past 7
o'clock o'clock
Half past 6 Half past 12
o’clock o'clock

Left

On right or left, which clock shows half past | o’clock?

Right

71

Playing with Shapes

8-1

Various Shapes (1)

J

categories.

(a) (b) (©) ) P
- e m

and are D family.

and are Q family.

<v[(3ZnE Sort out the following shapes to the same

Sort out the following shapes to the same cate

(b) (c)

gories.

(d)

e

(h)

5\

72

and | (g)| are I:]family
(c)| and | (f) | are D family.
and | (d) | are Q family.
()| and | ()] are A\ family

Playing with Shapes 1
= 2 Various Shapes (2) )

<=3 1 Draw a shape.
/ Start drawing
from @ and
‘ ‘ trace the dotted

I_l_' Draw a shape.

(1
01 . L o
o
(4

73
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20

<»[3EniE 20 Copy the surface of the object left and match
it to the shape on the right.

® [ Jiscalleda
four-sided shape.
® N iscalleda
three-sided shape.
® (iscalleda
round shape.

|_2—I Copy the surface of the objects on the top and match
them to the shape on the bottom.

w | & =

e
1 = O

|_3—I Copy the surface of the objects on the top and match

them to the shape on the bottom.

— 7
g

/
1 =~ O O

74

Playing with Shapes )
' = @ Various Shapes (3)

<*E=LTIB Circle the same shape as D .
® o
h @ ® B@/ EN
|_I—| Circle the same shape as[_].
=®,
A @,

<»[FEni3 2 Circle the same shape.
NIFEeN
k‘; __

|_2—I Circle the same shape.

® ® -
OCED B 00E
=lu= oz

75

Playing with Shapes
= éﬁ Review

|_|—I Sort out the following shapes to the same categories.

(a) (b) (d)
(e) (f) (h)
i
(c)| and | (e)
and | (f)
(b) | and |(g)
(a)| and | (h)

I_z"‘ Draw a shape.

76

I_3_' Match the object to the shape.

© o
Najensinc[cn=
Sjne oS

7
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9 I Calculation of Three Numbers

Addition of Three Numbers

<»[3€n3 How many cars are there altogether?
Write math symbols in the O .

(2s] (25

oo oo

There are  Three cars Then four cars
two cars.  came.

came.
Math _
sentence 3 e b= Answer

|_'|—I How many pens are there altogether?
Write math symbols in the

///) W/ v

There are | bought four | bought one
three pens.  more pens. more pen.

Math
sentence 3@4@ | =8 Answer

2—I How many books are there altogether? Write math
symbols in the O and the answer in the |:|

There is | bought five more books. | bought three
a book. more books.

Math _
sentence Answer

78

3—I How many balloons are there altogether?

Write it as a math sentence and find the answer.

000 90000 00

There are three My father gave me five My mother gave

balloons. balloons. me two balloons
Math 3+5+2=10 Answer | |0 balloons
sentence
I_l.—l How many birds are there altogether?

Write it as a math sentence and find the answer.

ab ab ab’ ab’| /ap
Tab T o | (T
2" ol o

There are three . Another two
. Seven birds came. )
birds. birds came

Math 3+7+2=12 Answer
sentence

5—I

How many helicopters are there altogether?
Write it as a math sentence and find the answer.

Two more

There are two Seven helicopters came.

helicopters. helicopters came.

sentence

79

Calculation of Three Numbers
9 2 Subtraction of Three Numbers

<»[3ZnE How many cars are left?
Write math symbols in the O .

There are seven cars.

» Two cars drove away.

_Then three cars drove away.

Math v 48
sentence 7@2 6 3=2 Answer

|_1—I How many vases are left?
Write math symbols in the O
There are eight vases.

Four of them were sold.

> Then three of them were sold.

Math
sentence 8@ @3 Answer

2—I How many candies are left?
Write math symbols in the O and the answer in the |:| .
There are nine candies.

| ate two candies.

My brothers ate four candies.

Math

80

3—I How many birds are left?
Write it as a math sentence and find the answer.

There are thirteen birds.

o o @ > Three birds flew away.
e _»Two more birds flew away.
sentence
4! How many ants are there left?

Write it as a math sentence and find the answer.
There are fifteen ants.

> Five ants ran away.

). -Then five more ants ran away.

Math I5—5-5=56 | Answer
sentence

5_|

How many cupcakes are left?
Write it as a math sentence and find the answer.

There are twelve cupcakes

"] ate two cupcakes.

y friends ate four cupcakes.

sentence

81
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9 3 Calculation of Three Numbers |_3—I How many erasers are there?

Addition & Subtraction of Three Numbers Write it as a math sentence and find the answer.
o | had ten erasers.

<> 305 How many cars are there?

| used three of them.
Write math symbols in the O . ;

TR T | TRTN) ﬁ @ ‘ Then | bought two erasers.

2 Three cars drove away. Math
; I0-3+2=9 Answer | 9 erasers
B B (¢ @ & Then four cars came. sentence
Math Yy, _
sentence 2 @ < e L6 AnSwer 4—| How many birds are there?

Write it as a math sentence and find the answer.

There are five cars.

There are five birds.

|_l—' How many oranges are there?
Write math symbols in the
There are six oranges.

Two birds came

> One bird flew away.

o | ate two of them.

“‘ @Then | bought four oranges. Math 5+2—-1=6 Answer
sentence
Math
Sentence 6 @ 2 @ 8 Answer - |
5 ' How many cactus plants are there?

—| .
2 How many tambourines are there? Write it as a math sentence and find the answer.
Write math symbols in the O and the answer in the |:| . There are six cactus plants.
There were ten tambourlnes in the shop.

Q Q Q QQQ The shop purchased i ; "1 gave my friends five cactus plants.
three tambourines. ‘

Math ) Math cactus

82 83

' bought four cactus plants.

> Seven of them were sold.

Calculation of Three Numbers Calculation of Three Numbers
9 4 Calculation of Three Numbers 9 = 5 Making Questions (1)

<»[EEiE Find the answers and write them in the [ |. <»EEnIE Make a question by looking at the picture.
‘ L+24+ 1 =7

XXX NCEIEC IR

| have four tomatoes. My mother gave me two tomatoes. My fathg

also gave me one tomato. How many tomatoes do | have now?

Make questions by looking at the pictures.
O 6+4+2=12

ore-[Ble [ ey Yoo (83

® 9+1+2=|12| @ 7-3-2=

Six flowers are planted in my garden. | bought

O 6+4+5 9—1-2=

I
(o)

® 7+3+5=15

@O 6+2-1=|7| ©® 12-2+6=116 @‘@@@ @ "@@\/

O s8+2-6=|4| @ |0—7+2=? @ @A§ ﬂ?ﬂ? @@@
- _There are seven ducks. Three ducks came. Then

@ 5+5-7=|3| ® 16-6+3=113 _another five ducks came. How many ducksare

84 85
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86

<=3 Make a question by looking at the picture.

Calculation of Three Numbers
Making Questions (2)

9 -6

[0-3-2=5

(89880

y 4

Make questions by looking at the pictures.

O s-2-3=3

Calculation of Three Numbers
Review

9 -1

|_|—I Find the answers and write them in the [ |.

©® s8+2+9= |19/ @ 10+ 1+3=]1l4
® 15-5-3=]7 0O 13-3-8=|2
@ 12+3-2=113/0 I1+4-3=|12
Q@ 6-6+3=13|@ 14—4+7=]17
© 0-7+2=|5|@® 9-6+5= |38
@ 8-3+5= |10/ ® 9-6+9= |2

|_2—| Make a question by looking at the picture.
8—-5+3=6

dogs are left?

87

88

<» (30 What is the answer to 9 + 3

Addition
10' 1 Addition (9 + ?)

\ J

©000000007)

4 You need

9+3=12 to make a

group of

Move one ball from the right to change 9to 10.  10. 3is |

There are 2 left. The answer is 12 with 10 and 2. and2.

What are the answers?

0 ©000000000

0 ©000000000

60 0000000000

O 000000000

O 000000000

0O 000000000

q+8=

000000000

© 000000000 )

O ©00000000 ) ©000000

q+7=

|

—»[EEnHB What is the answerto 8 + 5 ? 2

Addition )
10' 2| Addition (8 + ?) )

©0000000 ) De00

) )
§+5=13]
Move two balls from the right to change 8 to 10.
There are 3 left. The answer is |3 with [0 and 3.

You need to make a

What are the answers? el 0, §is 2emd s

0 ©0000000° T

0 ©0000000° T

60 ©0000000 T

O ©0000000

O ©0000000

8+7=15

O 0000000 ) 00000000 [ ;

. . There aren’t enough
8+ 2 : balls to make “[0”.
) @

8+|=|Z|

© ©0000000

© ©0000000

89
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Addition )
10' 3 Addition (7 + ?) ]

<»[3EnE What is the answer to 7 +

@000000 () %

7+5=
Move three balls from the right to change 7 to 10.
There are 2 left. The answer is |2 with |0 and 2.

DOP

What are the answers?

You need to make a group
of 10. 5is3and 2.

© ©000000

O ©000000

© ©000000

O ©000000

O 0000000

0O 0000000

O ©000000

920

There aren’t
enough balls
to make “10”.

Addition )
L] 0 = 4 Find the Answer )

<»[3ZniB  Connect the answer and formula with a line.

w D
) =

Connect the answer and formula with a line.

91

-

Addition
1 0 - 5 Addition of Two Numbers (1)

is || with 10and I.

<»[3ZEnE Add two numbers.

9+2= | ==

How many can be moved to change 9 to 10? One can
be moved to make 10. Then | remains. So, the answer

rea ]

Add two numbers.

® ® © © © 06 0 ©

6+5=E

92

How many can be moved to change 9 to |0?

<7+3= (2] <7+5=
9+6=[15] @ 9+4=13]
9+7= (s ) ‘7+8=
How many can be moved to change 8 to |0?
s+3=[11] O s+5=13]
s+4=[12] @ s+6=1¢]
How many can be moved to change 7 to |0?

s+7=[15] @ 7+4=[11]
7+5= ®7+6=

How many can be moved to change

6to [0?

Addition )
L] 0 - 6 Addition of Two Numbers (2) )

<»[3EnE Add two numbers.

s+9= |  m»  c+a=[i5

Pay attention to larger number. How many can be moved
to change 9 to 10? One can be moved to make 10.
Then five remains. So, the answer is |5 with 10 and 5.

Add two numbers. How many can be moved to change 9 to 10?

2+7=E ® 3+9= 12|
4+9=[13] @ 5+9=[1¢]
7+9=l16] @ s+9=]17]
How many can be moved to change 8 to [0?
s+8=[11] ©@ s5+8=[13]
4+8=[12] @ 6+8=14]
How many can be moved to change 7 to [0?

7+8=[15] @ 4+7=]11]
5+7= ®6+7=

How many can be moved to change
5+6 =|I| 610 10?

® ® © © © 06 0 ©

93
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——

Addition
L] 0 = 7 Find the Formula

Review

<» 305 Colour in the oranges whose answer is | 4.

|_I—I Add two numbers.

2+9=m
q+o=

8+4=
3+8=E

There are different types of formula to make 3.
Line up the formula by order and find the rule.

]2 o
+ + + + +
oOoood

94

3+9=
L7+5=
6+q=

6+8=
5+8=
q+3=

© 6 6 ¢

=)

Connect the answer and formula with a line.

W wwww

95

L 11 - 1 Subtraction (10-?)

L 11 - 2 Subtracting 9 (1)

<»EELE Calculate 10 — 2.

[OOOOOOOOOO)‘ » The answer is 8,
= 0-2=8f

Move two balls from the left.

<»[3EnIE There are |3 clips. | used 9 clips.
How many clips are left?
Write the math sentence and find the answer.

We can't subtract 9
from 3. |3is [0 and

Calculate the following.

0 0000000006} >

10— 1=
0 ©0000000 s
10— 4=
|10 —5=
10-6=
10-9=
10-8=
10 —-7=

96

3,so . 8 g

=) 1 and 3 make 4.5) The answer is 4.

Subtract 9 from 10

and get 1.
Math B 4 4
sentence| 0 774 Answer . clips

|_'I—I There are 12 cupcakes. Nine of them are eaten.
How many cupcakes are left?
Write the math sentence and find the answer.

M A A A AAAAdaJR A

.. Math
4 - =
sentence |2 — G =3 | Answer| 3 |cupcakes
|_2—I There are 15 eggs. My family used 9 of them.

How many eggs are left?
Write the math sentence and find the answer.

-{000000000 00000

Man | 15-9=6 6

sentence

Answer

eggs

97
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26

98

<»EELE Calculate || — 9.

| 11 - 3 | Subtraction 9 (2) )

Subtract 9 from 10

and get 1 )1 and 1 make 2.1 The answer is 2.

<»FEnfis Calculate || — 8

||—q:

Calculate the following.

o0

12-9=
o000

14— 9=
00

13-9=
00000

5-9=
00000000

18-9=
000000

6-9=7
0000000

17-9=

| 11 - 4 | Subtracting 8 )

We can'’t

subtract 8

from | !

I'1is 10 ﬁ
and |, A ¢ ©

Subtract 8 from 10

and get 2. #)2 and 1 make 3.5) The answ

eris 3,

Calculate the following.

o0

2-8=
0000

b-8=¢|
00

13-8=
00000

5-8=
00000

6-8=
0000000

17— 8=

0000 @

\|—8=

99

100

<»EELE Calculate || — 7.

| 11 - 5 | Subtraction 7 )

We can’t

subtract 7

from | ! 0
Ilis 10 p U 5

Subtract 7 from 10

and get 3. )3 and 1 make 4.5 The answer is 4,

||—7:

@008 00

2—7=
@000 0000
) |4—7=
0000 000
» 13-7=
Q000 00000

15 —-7=
0000 000000
16 —7=

I —7=
10-7=

0000 ©

0000

<»[E3ZnE Write the numbers in the |:| .

1 1 - 6 | Explanation about How to Calculate)

12 -9

Subtract 9 from 10 and get 1. 1 and ake .

12 -9 = We can’t subtract 9 from 2 ! o
12is 10and 2, s0....

Write the numbers in the |:|

O 141-9

Subtract 9 from 10 and get 1. 1 and

4 |make

t-9=|5

@ 3-8

Subtract 8 from 10 and get2. 2and| 3 |make| 5

13-8=| H

® 15-7

Subtract 7 from 10 and get 3. 3and| 5 |make| 8

5-7=| 8

O 16-9

Subtract 9 from 10 and get1. 1and| & |make| 7

l6—9=| 17

O 17-8

Subtract 8 from 10 and get2. 2and| 7 |make| G

7-8=| 9

101
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<»[FEnlE Calculate the following subtraction.

L 11 = 7 Subtraction (1) )

H-a=[ | =

Calculate the following subtractions.

=9 =

H
v’

©-9-3 Q@ 5-9=[4]
©i-s-[6] ©u-s-[5]
©-s-[8] 0r-s-|9]
T e
0 u-s=[6] ®u-s=-[5]
®s-s- e

Subtract 7 from |0 and get 3.

-&

® 2 - 4 — 7 =
O 13- 15 -7 =
Subtract 6 from |0 and get 4. /'\

1-s-[5]% @u-o-[¢]

Subtract 9 from |0 and get |.

k11 = 8 Subtraction (2) )

<»[FEnE Calculate the following subtraction.
n-2=[ | m 1-2=

Calculate the following subtractions.

<

0 -3=[8] @n-4=[7]
©i-¢=5] On-5=[6]
©O1-5-[3] O©1-7-]4]
@12-3=[9] @©12-4=[8]
©Qn-6=[6] ©®i-5=]7]
®i-4=[9] @®i-5-[8]
®i-71=[6] @®i-6=[7]
®nr-5=9] @u-¢=[8]
@nr-s=[6] @®u-1=[7]

103

104

" -9 Review ]

|_l—| Calculate the following subtractions.

O 15-5¢ O -2=

]
|
Il

™ 14 -9 =

©
|
Il

@D 13-4=

9 9
9]
@i-1-[9] ©@n-s-[4]
9

I_2—' Connect the answer and formula with a line.

|_3_| Colour in the shirts whose answer is 7.

Y 1
VRV

4! Read the following questions. Write the math sentences
and find the answers.

o There are 15 monkeys here. Seven of them ran away.
How many monkeys are left?

Math
sentence

15—-7=28

Answer | 8

monkeys

0 There are | | books in the shop. Nine of them are sold.
How many books are left?

Math

books
sentence

Answer | 2

105
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How to Compare (Length)

Which One is Longer? (1)

<»[EEnl3 Circle the longer one.

I_z—' Circle the longer one.

<»[EZEmpB 20 Circle the longer one.

Make sure to align the
end of objects and
make them straight.

e

(a)

|_3_| Circle the longer one.

106 107
How to Compare (Length) How to Compare (Length)
L1 2 = 2 Which One is Longer? (2) L1 2 - 3 Which One is Longer? (3) )
<»[FEn3 Compare the two sides. A ‘,,SM") <»[FEniE Which row is the longest?
Which one is longer? g U
® a ‘
0 (@) ‘ U h & ” hfh‘h (c) [ is the longest
= | T (b) ; ’
Ty Iy Ty
" ‘ OFF (a) ‘/is longer. Mﬁ%ﬁ
- © hhhh’hh (a) has 3 dogs
(2] (b) 7] (b) has 4 dogs,and...
@) Side (a) (b) is longer.
Side (b)
Which row is the longest?
I_l—' Compare the two sides. Which one is longer? o
Q@ o (@) e O ks W
@ | islonger (b) WWWW (a) | is the longest.
(©) o e e
Q@ o= o
|.| . (b) is longer.
@) CC=0—=0C—=0— (d) | is the longest.
O o b) O —=CO—=C—
Side (a) ) (c) ===
Side (b) (b) is longer.
b) (d) O O O On O
108 109

28
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How to Compare (Length)
Which One is Longer? (4)

12- 4

<»[3EnlE Measure the length by counting the number of scales.

J

(a) (TLJ—:* (a)is scales.
(b)f=r— (b)is| 2 |scales.
N (c)is scales
(c)

is the longest.

How to Compare (Length)

12-5

Which One is Longer? (5)

|_1—| Measure the length by counting the number of scales.
(a)
o)

4 |scales.

—
[
-

s

scales.

(b)is| 2

Notebook

(©)

(c)is| 3 |scales.

=[5 Compare the lengths.

How many items are the same length?

=

(b) |-

4

items.

Compare the lengths. How many items are the same length?

O P |
p—

|_2—' Compare the two sides. Which one is longer?

(1) (b)

(a)
E@@E E (b) | islonger.
: [
(2]
(a)
Side (a)
Side (b)'j (a) | islonger.

— ()

112

(a) | isthe longest.

I_l._' Compare the lengths.

(1) ©
(@) 5] ~

(]

(b) is longer than

longer

(b)

shorter

(a)

(c) | is the longest.

is the longest.

(d) | is the shortest.

than (d).

than (c).

~ A
is the longest. &— 2 | items.
|

|_2—I Measure the length by counting the number of squares.

(a)is . squares.
) w o
(b) is squares.
(c)is squares.
is the shortest. 3 | items.
ﬁ The opposite word of :—
long is short.
110 11
1 2 6 How to Compare (Length) |_3—I Which row is the longest?

ReView (a) rmj mj /mj mj mj mj

Ll—' Circle the longer one.

o (b) P [ (| [ [

”””” (C) rmj mj mj m(Am}

113
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How to Compare (Capacity)
Which is More? (1)

13-1

<wInstruction You can find which container can hold by

transferring water.

(@) (b)

: @

The illustration shows that (b) holds much water.

<»[3Z=n5 There are containers with some water.
Which has the most?

(a) (b) (c)
-l

|_'|—I There are containers with some water.
Which has the most’?

uim
"

has the most.

has the most.

How to Compare (Capacity)
Which is More? (2)

13- 2

<»[3E075 How much water can the containers hold?
Which container can hold much water?

ltcanhold| 3 |glasses.

ltcanhold| 2 |glasses.

s
8

(a) ‘é\n hold much water.

|_'|—I How much water can the containers hold?
Which container can hold the most?

The capacity is| 4 |glasses.

The capacity is| 8 |glasses.

The capacity is| 7 | glasses.
(b) | can hold the most.

115

How to Compare (Capacity)
Review

13-3

|_'|—I Which container can hold much water?

(b

-

|_2—I There are containers with some water.
Which has the most?

) ©
) ©

(a)

(a)

can hold much.

(a) | can hold much.

has the most.

(a) | has the most.

m W[

(a) (b) (©)

|_3—I How much water can the containers hold?
Which container can hold the most?

has the most.

(4]

has the most.

-

The capacity is| 4 |glasses.

The capacity is| 6 |glasses.

The capacityis| 7 |glasses.
(c) | can hold the most.

17

JICA_14F_fR&ARE%_P002-046. indd 30

2022/02/25

13:11:4




How to Compare (Extent) How to Compare (Extent)
1 4 - 1 Which is Larger? (1) 1 4 - 2 Which is Larger? (2)

- J “ J

<»EznlE Compare the size of the four-sided shapes. <»[EFEn5 1 Count the number of [l that fill the shapes.
Circle the larger one. /

(1) (2] - The numberis | 6
<:h - - I_I—I Count the number of [l that fill the shapes.

i X The numberis | 9 ﬂ The numberis | 7
Compare the size of the four-sided shapes.

Circle the larger one.

L]

<»EEnpB 20 Count the number of [l and [ ].
Which extent is larger? Circle the larger one.

(2]
O E The number of [l is
The number of[_]is /
(4]

The extent of [l / @ is larger.

|_2—I Count the number of [l and ].
Which extent is larger? Circle the larger one.

( ) _ oﬂThe number of [l is E/

The number of [_|is The extent of @ /[ ]is

larger.

The number of [l is /
g . The number of ] is The extent of @ /[ Jis
larger.
118 19

How to Compare (Extent) |_3—I Count the number of [ .
1 4 = 3 Review Which extent is larger?

o
(a)

|_1—| Compare the size of the four-sided shapes.
Circle the larger one.

0 o @ s
_ . The extent of is larger.

(b)

ya
@ 0
@ o ®

@ D D . The extent of is larger.

|_4—| The right figure has 10 [ .

Which extent is the same as the right?
|_2—| Count the number of [l and [_]. o

Which extent is larger? Circle the larger one.

The number of [l is E
The number of[_]is E%e extent of [l /[ is

larger.

: E (b)
(c) (d)

The number of . s @ m

The number of[_]is The extent of @ /[ ]is

larger. The extent of is the same.

120 121

=L
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Large Numbers
Numbers Greater than 20 (1)

15-1

-

<>[EELilE Count them and write the numbers in the [ |.

A0 0 1% [Make groups of 10 oranges.

How many groups of 10 are
there?

There are 5 groups of |0.
The answer is 50.

There are 4
groups of 10.
Therefore, the
answer is 40.

poons

Pay attention to how many groups of |0. If there are 4,
it is 40 (forty). If there are 5, it is 50 (fifty). Also there
are 60 (sixty), 70 (seventy), 80 (eighty) and 90 (ninety).

Count them and write the numbers in the [ |.

o-_&-_&-_&-_&-_&._& ot o &0

— it ot ot ot -J-J-J-J-J-J

— et ettt
— et ettt

hats

— et ettt

(2]

@ biscuits

Large Numbers
Numbers Greater than 20 (2)

15- 2

<eEEITE. Write the numbers in the [ .

Altogether it makes | 43 |. Answer

There are groups of 10 eggs and . extra
eggs

f
Write the numbers inthe [ ], = crohre

There are groups of 10 pencils and extra
Altogether it makes |54 |.  Answer |54 | pencils
0 & o o o e g
ag&u%wgagaggna
There are E groups of 10 notebooks and extra.

Altogether it makes . Answer notebooks

0 ||||I|I| There are groups

Answer

123

124

Large Numbers
Numbers Greater than 20 (3)

15-3

<= 303 How many blocks are there?

Write the numbers in the |:| .
Two groups of 10 make 20.
(Two sticks have 20 blocks.)
I Write 2 in the tens place.
m “26” is twenty-
There are 6 blocks. e, Vo 1 (e
Write 6 in the ones place.

Tens Place | One lace

[2]6

the number in the
tens place first and
then the number
in the ones place.

20 and 6 make 26.

< [EEEE Write the numbers in the |:| .

How many blocks are there? Write the numbers in the |:| .

(1) (2)

" : "I : "".
2]

[5] | [ [3] [ [e] | [ [4] | [2]

Tens Place Ones Place Tens Place Ones Place Tens Place Ones Place

[4)
Here is
m
[5]

[ el [ (el [ [4] | [o]

Ones Place

Tens Place Tens Place Ones Place Tens Place Ones Place

[2]5] [3]e] Wﬂ%ﬁg
(5] o ’

[5]1] [6]8] [4]0]

of 10 blocks and E extra.
Altogether it makes .
Large Numbers
Numbers Greater than 20 (4)

15- 4

56 has groups of 10 bananas and

extra.

Write the numbers in the |:| .

57 has .groups of 10 colored pencils and extra.

LI

87 has groups of 10 and extra.
e 95 has Egroups of 10 and extra.
Q 44 has groups of 10 and extra.
6 39 has groups of 10 and E extra.
0 50 has groups of 10 and @ extra.

125
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Large Numbers

19-5

Numbers Greater than 20 (5)

<>[EEuplB Write the numbers in the [ .

o 72 shows in the tens place

and| 2 |in the ones place.

e The number that shows 7 in the
tens place and 2 in the ones place

[nf

Tens Place | Ones Place

[7]2]

Write the numbers inthe [ |.

0 74 shows in the tens place and

4 |in the ones place.

Q 52 shows in the tens place and

2 |in the ones place.

e 37 shows in the tens place and

7 |in the ones place.

0 The number that shows 4 in tens place
and 9 in the ones place is .

Q The number that shows 6 in tens place
and 8 in the ones place is

0 The number that shows 9 in tens place
and 3 in the ones place is .

126

Ones Place

[7]4]

[4] | [9]

Tens Place

]9

Ones Place

Large Numbers
15- 6 Review (1) ]

I_l—' How many blocks are there? Write the numbers in the [ |.

(1)
IS R
[3]

(41 [[s] | [e] [4] [ [8]

Ones Place

Tens Place

[3]4] [5]6] [+]8]
(5]

4 (6]
N F
[7] [6]

3] [2] [ [o]
[7]7] [6]3] [2]0]

= ) )
(2 Write the numbers in the [ ]

@ 85 shows in the tens place and in the ones

place.

@ 96 shows E in the tens place and @ in the ones

place.
e The number that shows 6 in tens place and 6 in the

ones place is .

0 The number that shows 4 in tens place and 7 in the

ones place is .

Tens Place Ones Place Tens Place Ones Place

Ones Place Tens Place Tens Place Ones Place

127

Large Numbers

15-7

Numbers Greater than 99

<eEEITIE. Write the numbers in the [ .

There are groups of 10 eggs.
2
Answer m eggs
“100” is one hundred.
A_"_ o

Altogether it makes

Write the numbers in the [ |.

There are groups of 10 notebooks.

Altogether it makes

There are E groups of 10 biscuits and

Answer notebooks
o ére
A888884848E8

extra.

Altogether it makes Answer biscuits
There are groups
of 10 blocks.

Altogether it makes .

Answer

<eEEE . Write the numbers in the [ by looking at the

Large Numbers
Arrangement of Numbers ()

15-8

number chart.

@ The number that is 2 more than 46, [T TR

20|21 [22 23] 24 25 26 27 28 20
485 30]31 [32[ 3334 ]38 36] 3738 [ 3¢
wo]e1 [e2]ea] us 45 s g7 [ 48] 2
. 50 51 [52 53] 54 |55 | 56 [ 57 8 | =7
e The number that is 3 less than 95. g [lea]se s [x]a e[«
70|71 [72 737475 |78 | 72 78 70
In the chart, the numbers from ‘72 80]8I |s2[83]84 85 as [ 67 |88 [89
5 ) 7091 [92 93] 24 |95 06 |77 o8 02
| to 100 are written in order S
and 10-19,20-29 ...,and 90-99
are written in the same row.

Write the numbers in the |:| by looking at the number chart.
o The number that is 3 more than 46. |21 121°1¢151¢17]817

10 1| 12[13|14]|15|16[17[18]|19
4q 20|21 (22|23 (24(25|26|27| 28|29

30|31 (32(33]|34(35|36|37|38|39

. 40|41 |42 (4344 (4546|4748 (49

e The number that is 8 more than 3. (5075 52153054 5565758 |5

60|61 (62|63 |64(65|66|67|68|69
70|71 (72|73 |74(75|76|77| 78|79
80|81 |82 (83|84 (85|86|87 88|89
e The number that is 4 more than 46. [#]7]#2]s]e]e5]es] 7]

What number comes next to 49?
0 The number that is 9 more than 31.
[¢1]

e The number that is |0 more than 31.
o The number that is 5 less than 95.
o The number that is 6 less than 95.
0 The number that is 10 less than 95.

129
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Large Numbers Large Numbers
1 5 = 9 Arrangement of Numbers (2) 1 5 = 10 Arrangement of Numbers (3)

& J &

<»[EFEniE 1 Write the following numbers on the number
line by using the arrows.

75 32 58
o o e @ The number that is 2 more than 53.

32 58 75 53

2
o2 3°l 050 lco 00) 80 90 100 0 10 2 3 40 50}! €0 70 8 90 100

e The number that is 6 less than 43.

<*EEIE. Write the numbers in the [ |by looking at the
number line.

o

l_' Write the following numbers on the number line by 43
using the arrows. 6
0 10 20 30 50 60 70 80 90 100
O 5 O s O 3 O s wwmmmmmmmm
23 48 65 a8

l l L l Write the numbers in the |:| by looking at the number line.
0 20| 3 40 |50 60 | 70 8 9 |00

0 10 20 30 40 50 60 70 80 90 100

<»[3€na 2. Write the appropriate numbers in the |:| .

o

8

0 The number that is 3 more than 55.

o
The number that is 8 more than 73.

0 0 | 20 30 40 s 6 70 8 |

100

~J

N
(6] o N

The number that is 4 more than 66. 0

I_2—I Write the appropriate numbers in the [ ]. The number that is 5 less than 27.

B
‘0 \‘0 2‘0 3‘0 4‘0 50 60 70 80 90 100
Y1 RTETI I FOATL AT AT AT A

w

The number that is 8 less than 38.

w

The number that is 7 less than 45.

0000

130

131

B B
Large Numbers Large Numbers
L1 5 = " Arrangement of Numbers (4) ) L1 5 = 12 Arrangement of Numbers (5)
<»E=mb Circle the larger number. <»[EEplB Count and write the numbers in the [ .

G o [~1E] 0 (][] mim By
CRIOIN 0| 1 (2 2]
l_l—l Circle the larger number.

(1] 57 O | 6

29 o | ()

Count and write the numbers in the [ ].

65 66 — 67 68 6970

3536371383940

0| 3 @] o) dsoHs8l He2Hse3HssHss
1_2—I Circle the smaller numbers. —50H60H70H 80190 HI00—

o | ()

66 O | 88

4h | 45 1 46 H 47 [ 48 [ 49 |H 50 -

e
& ®

5410115720725 +30735—

100+ 99 = 98 1 97 H 96 = 95 H 94

© © 6 6 6 06 0 ©

(2
79
(59
64
@
0 | 30 0|
85 75 [ 65 || 55 [ 45

35125

132
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Large Numbers
L] 5 = 13 Numbers Greater than 100 (1)

<*EEIEE. Count the numbers and write them in the [ .

There are groups of 10 eggs and extra.
4

|00 and 8 make

“108” is one hundred eight. Answer| 108 €ggs

Count the numbers and write them in the |:| .
0O mmmme
A884848 -
AAAAA ==
m o es
There are groups of 10 biscuits and extra.
100 and 7 make Answer blscmts

’ llllllllll I

groups of 10 pencils and extra

Answer 5|pencils

There are .groups of 10

blocks and | | 4 |extra.

100 and |4 make| | | 4].

There are
100 and 5 make

Large Numbers
k1 5 - 14 Numbers Greater than 100 (2)
<»[EEplE Count and write the numbers in the [ .

© {89 ioof 1o 102|103
e 109 hasand

Count and write the numbers in the | |.

= 99 11007 101102103 04|~

108109 110 T ITHIT2H113-

(1]
(2]
© {118l 119 120H 121 H122H 1231 1241
(4]

SO HITI2H I35 1471151116

© —1301297128 127126125124~

@ 107has||00|and| 7

@ llhas||00]and| ||

© 125has

00|and| 25 |.

135

—l . .
1 Write the numbers in the [ ]

w

@ The number that is 9 more than 21.

~

@ The number that is 8 more than 32.

@ The number that is 5 more than 95.

~

3

0 The number that is 7 less than 56.

© The number that is 6 less than 85.

|_2—I Circle the larger number.

o 60 0| 3
o | s @
0 | 33

| . .
|3 Countand write the numbers in the [ ]

0 g9

® |5 ®

(5] 19

100101102103 104—

2 HIH1TI8HTTHITOR IS4+

136

Large Numbers
1 5 = 15 Review (2) ]

Large Numbers
k1 5 - 16 Addition and Subtraction (1)

<»[FEnrlE Solve these addition and subtraction problems.

930—|o=

There are bundles of 10
pencils.Subtract | bundle
from 3 bundles.

© 0+s0= ‘

There are bundles of 10
pencils.There are | bundle
and 4 bundles.

Solve these addition and subtraction problems.
= B B o
m o o Y

©® 30 +20=|50

® 50 +30=80

® 60+ 10=70 O 60— 10=50

© 80 +20=|100] @© 80 —20=|60

© 50 +50=|100] @ 100 —60=|40

137
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15-17

-

Large Numbers
Addition and Subtraction (2)

~[3€nE  Solve these addition and subtraction problems.

Tens Place

Ones Place

40is 40 and 0.

0 «0+2=]42]

When 2 is added to 0
in the ones place, it is 2.

Tens Place Orj;s Place
@ u2luf

42is 40 and 2.
When 2 is subtracted from
2 in the ones place, it is 0.

Solve these addition and subtraction problems.

Tens Place

Ones Place

Tens Place

Ones Place

0 60 +8=|68 ©68—8=|60
© 50 +3=|53 05 -3=|50]
0 40+2=]42 0 42-2=|40]
@80 +4=|8s 84— 4=|80
Q70 +9=|79 ®79-9=70

Large Numbers
1 5 = 18 Addition and Subtraction (3)

<»[FEnlE Solve these addition and subtraction problems.

|IF [N
Tens Place Ones Place Tens Place Ones Place
025+3: 028—3=

-

25is 20 and 5. 28 is 20 and 8.
When 3 is added to 5, it is 8. When 3 is subtracted from 8,
itis 5.

Solve these addition and subtraction problems.

Tens Place Tens Place

Ones Place Ones Place

© 45 +3=|48 © 48-3=45
© B +4=27 0 27-4=|23
O 65+3=68 0 68—3=65
@ 53+ 4=|57 O 57— 4=|53
082+7=89 ®89—17=|82

139

Large Numbers
1 5 - 19 Review (3)

I_l—I Solve these addition problems.

©® 10+30=]40 ©® 30 +50 =80
©® 20 + 80 =[100] @O 40+ 20 =60
O 40+ 6=46 0O 50 +6=56
@ 20+9=29 O 90 +3=93
O 25 +3=28 O 74 +3= 77

I_z" Solve these subtraction problems.

® 70 -30=

40

® 100 -30=|70

O 82 -2=|80 O 77-7=|70
© 53—-3=|50 O 34 -4=30
© 39 -4=35 O 68 — 4 =64

O 90 — 40 =50

O 100 —70=|30

What Time is It (Hours and Minutes) ?
How to Read the Time (I)

16-1

e Instruction

+ The long hand shows the
minutes.

* One small line shows one
minute. There are 60 lines.

* When the long hand is on
6, it is thirty minutes and it

means half past I:lo‘clock

First, read the hour (short
hand) and then read the
minutes (long hand).

;765«}\5

|_2—| Read the time.

140

141

36
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What Time is It (Hours and Minutes) ?
Review

16- 3

l_l—I Read the minutes.

142 143
1 7 I Ordinal Numbers ) |_l|_| Circle the second dog from the back.
L First to Fi D> T <D- T <D- T <D- T 74 & )
. fith ) ¥ ¥ ¥ ¥ b »
<»EEnfiE 1 Circle the second car from the front. |_5—I Circle the fourth truck from the back.
o o & o= 0 I D I
= o | ~ ~
First Secondf/Third Fourth  Fifth RMEXamPIcE) L&' Circle the third airplane
9 Circle the second bear from the top.
ﬂ @ a ﬂ 6 from the top. /
- ) ) 3 First
1 Circle the third rabbit from the front. —
* ﬁ R 8(% . 3 Second
J NI VI g:@g:@
_ gé % %&Q 3 » Third
2 Circle the first bus from the front. e#
D T T 1 D T 8 8 s
B =i 3 3
3 Circle the fifth chicken from the front.
h, b E M Examplell:] |_'l—I Circle the fourth book
& & Circle the second ballon from the bottom.
from the bottom.
<»3zn1B 2 Circle the second helicopter from the back. ’ ’ Fifth
drt grt grt grt grt i
(] ’ » Third
Fifth Fourth  Third  Second First ’
s = =— § —st Second
& I I (@I o 0
144 145
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146

Ordinal Numbers
Sixth to Tenth

17-2

<»[EEna 1 Circle the seventh pencil from the left.

ARRRRRRAN

<v[3En;3 2 Circle the seventh ball from the right.

First Second Third Fourth Fifth Sixth Seventh Eighth Ninth Tenth
|_I—I Circle the seventh ice cream cone from the left.
. ' '\ : @'\ V f

|_2—I Circle the nineth tree from the left.

2000000089

|_3—I Circle the sixth eraser from the left.

il 1 i 1l f0)h o o o

|_l.—| Circle the eighth house from the left.

ERReERAERR

OOV DOHDO

Tenth Ninth Elghth Sevent

Slxth Flﬂh Fouﬁh Thlrd Second Flrst

|_6—| Circle the ninth butterfly from the right.

‘\’\'ﬁ‘\* TN

|_7—| Circle the eighth train from the right.

|_8—| Circle the seventh yacht from the right.

@@@@@@@

19! circle the fifth ant from the right.

ARIRINWN NN

147

148

Ordinal Numbers
Ordinal Numbers to Tenth

17 -3

<»[3€nia Dogs are lined up. Count them from the front.
Connect the pictures and the numbers with a line.

%o ¥ o W0 W Iy 00 1

‘ Third dog ‘

‘ Seventh dog ‘ ‘ Fourth dog ‘

First Second Third Fourth  Fifth  sixth

L3 ek R ehalaX Bai
// T

‘ Third dog ‘ Fourth dog ‘

seventh eiahth

‘ Seventh dog ‘

|_l_| Cactus plants are lined up. Count them from the left.
Connect the pictures and the numbers with a line.

ALiEEi A ]
e

Eighth cactus

‘ Second cactus ‘ Sixth cactus

|_2—| Stationery is lined up. Count them from the left.
Connect the pictures and the numbers with a line.

2/4N@IN&/
\ \ | Nimhstﬁw

‘ First stationery ‘

o £ 5mo .

‘ Fifth stationery ‘

|_3—| Various cars are lined up. Count them from the front.
Connect the pictures and the numbers with a line.

o 1) . - e O G e
—— e

‘ Fourth car ‘ Seventh car

‘ Second car

|_4_| The paintings are displayed. Count them from the right.
Connect the pictures and the numbers with a line.

¢|_|.

‘ Third painting ‘

‘ Seventh painting

‘ Sixth painting ‘

149
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Ordinal Numbers
Ordinal Numbers and How Many (| )J

17-4

|_1—| Cars are lined up in a row.
o Circle the fourth car from the front.

o R i i

9 Circle four cars from the front.
R & -

|_1—| Cars are lined up in a row.

o Circle the fourth car from the frontl/
First ~ Second  Third Fourth Fifth

o o ol gl ol

O Circle four cars from the front.
One Three  Four Five

> o

|_1—| Chickens are lined up in a row.

o Circle the second chicken from the front.

|_2—| Buses are lined up in a row.
o Circle the third bus from the back.

= R T () T T

e Circle three buses from the back.

T 16 TEE O T O
|_3—| Bears are lined up in a row. )

o Circle the fifth bear from the left.

3333383

e Circle five bears from the Ieft

|_l¢—| There are several books.

Q Circle the four books from
the top.

0 Circle the fourth book
from the top.

152

17 -5

|_1—| The houses are built in a row.
0 Circle the sixth house from the left.

flfEc@refe

6 Circle six houses from the left.

Ordinal Numbers
Ordinal Numbers and How Many (2)

|_2—| The butterflies are flying in a row.
0 Circle the ninth butterflies from the left.

v\“ *I\t‘ *'\\‘ *'\{

6 Circle the nine butterflies from the left.

|_3—| The trees are planted in a row.
0 Circle the seventh tree from the left.

2000000000

Circle seven trees from the left.

l.—| Ants are marching in a row.

o Circle the eighth ant from the front.”

%w%ﬁﬁx%é«w. NN

e Circle eight ants from the front.

Pay attention
to this word!

Pay attention
to this word!

@ Circle the tenth yacht from the right-

144444444

e Circle ten yachts from the right.

d

STDDDLODLTD

|_6—| Fish are swimming in a row.

@ Circle the sixth fish from the back. . word

‘(4‘(‘(‘@‘(4‘(*‘(‘(

e Circle six fish from the back.

Pay attention to this

153
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|_1—I Various fruits are lined up in a row.
o Count them from the left. Circle the fifth fruit.

LA -1 O 22

0 Count them from the right. Circle the sixth fruit.

O IIrs

|_2—I Various cupcakes are lined up.
o Count them from the left. Circle the fourth cupcake.

IO AL LT
0 Count them from the right. Circle the third cupcake.
pivedTeR¥Ee

|_3_| Various insects are lined up.

o Count them from the front. Circle the second insect.

L{)ﬁ*&h—ﬁhﬁ

0 Count them from the back. Circle the eighth insect.

%{)iﬁ&h—ﬁhﬁ

1

Ordinal Numbers
17 - 6 Review

|_4—| There are cars in a row.

o Count them from the front. Circle the fourth car.

e Count them from the front. Circle four cars.

|_5—| Balloons are flying in a row.
o Count them from the right. Circle the fifth balloon.

900909090000

6 Count them from the right. Circle five balloons.

2099999999

|_6—| Turtles are lined up in a row.

0 Count them from the back. Circle the seventh turtle.

aaaRa R a e

e Count them from the back. Circle seven turtles.

155

N

Let's Use Diagrams
18 = 1 Calculations Including the Ordinal Number(l))

-

<»[3En3 There are cars lined up. My car is the 5th car
from the front. There are 3 cars behind my car.
How many cars are there altogether?

I'st 3 cars
A

MM&EHE%EHM@

5 cars 55h car 3cars
A

A
0 N0 \
O000®@000
8 cars
Math 4 <
Sentence 5+3=8 Answer ars

|_l_| There are buses lined up. My bus is the 4th from the
front. There are 3 buses behind my bus. How many
buses are there altogether?

I'st 2nd 3rd 4th 3 buses
A

D T T T

4 buses AtP bus 3 buses
A A

O00@@0O00

Math B
Sentence b4+3=17 Answer | 7 |buses

\

156

|_2_| There are dogs lined up in a row. My dog is the 3rd
from the front. There are 5 dogs behind my dog. How
many dogs are there altogether?

Ist  2nd  3rd 5 dogs
N

Hhnenn
? dAogs 3rd dog 5 dAogs
OO®0O0O00O0

Math B
Sentence 3+5=38 Answer | 8 |dogs

|_3—I There are motorcycles lined up in a row. My motorcycle
is the 6th from the front. There are 3 motorcycles behind
mine. How many motorcycles are there altogether?

? motorcycles 6th motf)rcycle 3 motorcycles
A A
Is N \
O0000@@00O0

Math B
Sentence 6+ 3 =9 |Answer| G |motorcycles

|_l|—| People are lined up in a row. | am the 7th person in
line from the front. There are 3 people behind me. How
many people are there altogether?

Me
000000000
'\SA:r:Tence 7+3=10 Answer | | O | people

157
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Let's Use Diagrams )
L1 8 = 2 Calculations Including the Ordinal Number (2))

<> (305 There are 9 cars lined up in a row. My cars is
the 4" from the front. How many cars are there
behind my car?

Ist 2nd 3rd 4th

| iy il ofils ol ol s ol ofils ol

9 cars
4 cars 4th car ‘ 5 cars

000800000
9 cars
'\SA:::ence 9-4=5 g Answer ars

|_l—I There are 8 airplanes lined up in a row. My airplane
is the 4th from the front. How many airplanes are there
behind my airplane?

Ist 2nd 3¢  4th

[; sy LBy ey a&} o e - e

8 airplanes
4 alrplanes 4th airplane 4 alrplanes

0000000

8 airplanes

Math - .
Sentence 8—4=4 Answer | 4 | airplanes

158

|_2—I There are |10 horses lined up in a row. My horse is the
2nd from the front. How many horses are there behind
my horse?
Ist 2nd

10 horses
2 hoArses 2nd horse ? horses
i
0600000000
10 horses
gl:r:?ence 10-2=28 Answer | 8 |horses

|_3—I There are |10 people lined up in a row. | am the 5th

person from the front. How many people are there

behind me? ” people
OO0 OO . OD0000

10 people
gﬂ:r::]ence 10 -5=5 Answer | 5 | people

|_4—| There are 7 children lined up in a row. My brother is the

3rd from the front. How many children are there behind

?
my brother? My brother 2 children

0080000

7 ch?lfdren

Math . .
Sentence 7 3=4 Answer | 4 |children

159

Let's Use Diagrams )
L1 8 = 3 Calculations Including the Ordinal Number (3))

<»[FEn3 There are bicycles lined up in a row. There are
3 bicycles in front of mine. There are 4 bicycles
behind mine. How many bicycles are there
altogether?

3 bicycles My bicycle 4 bic/)\/cles
&o o Gadiadiofodiodio
3 bicycles Myb‘icycle 4 bicxcles
00Ce0000

8 bicycles

Math

>
+ + = ﬁ i
Sentence 3+4+1=8 Answer bicycles

|_l—I People are lined up in a row. There are 5 people in
front of me. There are 3 people behind me. How many
people are there altogether?

5 perpIe Me 3 perpIe
r Al r Al
000008000
? people
“SA:rt\rt]ence 54+ 34+ | =9| Answer| 9 |people

160

Let's Use Diagrams
18- 4 Review (1)

I_I—I There are trucks lined up. My father's truck is the 2nd

from the front. There are 6 trucks behind my father's.
How many trucks are there altogether?

Math _
Senterce 2+6=28 Answer | 8 | trucks

|_2—| There are people lined up in a row. My mother is the
8th person from the front. There is | person behind my
mother. How many people are there altogether?

OO0O0O0O0O@O

8+ 1 =9 Answer | G | people

Math
Sentence

3! There are 6 girls lined up in a row. My sister is the
2nd from the front. How many girls are there behind my
sister?

Math _ :
Sentence 6 —2=4 Answer | 4 |girls

I_lu—l There are cars lined up in a row. There are 4 cars in
front of mine. There are 3 cars behind mine. How many
cars are there altogether?

Math
Sentence

4t+34+ ] =8 Answer | 8 |cars

161
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Let's Use Diagrams
Calculations to Think about the Difference (1)

18- 5

~[3E0E There are 5 children riding bicycles. There are
2 more bicycles. How many bicycles are there

J

altogether?
5 children
/—%
children DDDDD 2 bicycles

siydes  AAAAAAA
Y
Y3 |:| bicycles
Math 5 +,2 =17 Answer icycles

Sentence

I_l—l There are 6 people holding umbrellas. There are 3 more

umbrellas. How many umbrellas are there altogether?
6 people

/—)%
People  [IEICICIEIE 3 umbrelias

Umbrelas AAAAAAAAA
6+3=9

Math

umbrellas
Sentence

Answer | G

I_Z—I There are 8 people practicing the flute. There is | more
flute. How many flutes are there altogether?

18- 6

<»[3Zn[5 There are 9 pieces of cake. 7 children ate |
piece each. How many pieces are left?

Let's Use Diagrams
Calculations to Think about the Difference (2)

&

9 pieces of cake

cae AAAAAAAAA
Children DDD@DDDﬁPWS
7 children
gl:,:rt\ence 9—7=2"] Answer pieces of cake

|_I—I There are 9 hats. 6 people wear one hat each. How
many hats are left? 9 caps

cvo AAAAAAAAA
People DDéEEeDD
9-6=3

|_2—I There are 8 horses. 5 men ride on one horse each.
How many horses are left? 8 horses

Math

Sentence Answer | 3

caps

164

<»[3Fn5 My brother bought |3 black pens. Then he

bought 6 fewer red pens than black pens.
How many red pens did he buy?

I3 black pens

Black pens 000000000000
Red pens

6 fewer red pens
Red pens

,Answer ed pens

I_I—I There are |3 pieces of red paper. There are 5 fewer
pieces of blue paper than red paper. How many pieces
of blue paper are there? |3 pieces of red paper

Redpaper QOO 00 0000000 O®

Blue paper

Math

=7 A
Sentence 13-6=7

5 fewer pieces of blue paper
Math - pieces of
Sentence 13 5=28 blue paper

1_2—I | bought |2 tomatoes. | bought 3 fewer carrots than
tomatoes. How many carrots did | buy?

Answer | 8

|2 tomatoes
Tomatoes ............
Carrots ¢ i 3
3 fewer carrots
Math _
Sentence 12 -3=9 Answer | 9 | carrots

|_I—I There are 7 students using one computer each in the
classroom. There are 2 extra computers. How many
computers are there in total?
7 students

/—%
Students DDDDDDD'_AQ_‘CQmputers
comutes AAAAAAAAA

Math _
Sentence 7T+2=9 Answer | 9 | computers

2! There are 10 children eating one donut each. There are
3 extra donuts. How many donuts are there in total?
Math B

Sentence 10+3=13 Answer | |3 | donuts

|_3—' There are 9 apples. 5 children ate one apple each.
How many apples are left?
9 apples

Apples AAAAAAAAA
chidren LI

5 children
Answer apples

9-5=4
|_4—' | bought 9 notebooks. | bought 2 fewer books than
notebooks. How many books did | buy?

Math 9 _9—7

Sentence

Math
Sentence

Answer | 7 |books

N
8 people Horses AAAAAAA
People  FIEEIEEIEIEIE | ven  [IEIEIEEED
Fies  AAAAAAAAA  Tmen
Math _ Math _ 5 men
Sentence 8+ 1 =9 Answer | | |flute Sentence 8—-—5=23 Answer | 3 | horses
162 163
Let's Use Diagrams ) Let's Use Diagrams
L1 8 = 7 Calculations to Think about the Difference (3)) 18 = 8 Review (2)

165
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Making Shapes
Making Various Shapes

19-1

<»[EFEnls Make the shapes below using 4 pieces of k

»

Make the shapes below using 4 pieces of k

b
ey
X

Making Shapes
Drawing Various Shapes

19-2

0

~[3EmB Draw the ‘4 shape by connecting

the ¢ with lines.

Draw the following shapes by connecting the - with lines.

e - .

167

168

Making Shapes
ﬂ@ = @ Review

|_1—| Make the shapes below using some pieces of k
@ 6 pieces @ 10pieces

|_2—I Draw the following shapes by connecting the - with lines.

D ¢ o we

of o

How to Express Quantity

20- 1

O

Let’s Express Quantity with Drawingsl

<»[3En3 1 Find out how many of each stationery you
have. Tally the number of stationery on the

graph using a O .
@)
O 1 O /4
O 1O O
AR

<=3 2 Find out how many of each ingredient you
have.

‘ o How many tomato do you

have? | have tomato.
® ¢/

e Which items do you have the
Tomato | Onion | Carrot

2
most of? re the most.

I_l—I Find out how many of each fruit you have.

Tally the number of fruits on the graph using a O .
(@)
(@) Q
Ol0O0 0
Q1010
OO0
K

J

|_2—I Find out how many of each item are in a shop

P How many bananas do you
2 [] /| have?
Banana |Pineapple| Carrot I'have | 2 |banana.

169
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170

Number & Operation

Entire Grade-1 Review (I)

1 Write the numbers in the[ ].
W eaaanan) There are| 7 |blocks.

2 W There are blocks.

3 Inthe number 48, there are groups of 10 and

4 Inthe number 62, there are @ groups of 10 and

extra.
5 The number that is ten groups of |0 is .

6 The number 75 shows in the tens place and

in the ones place.

2 Write the numbers in the[].

H65He6 HoTH68He69 H70H 71 |
135 H36H37H38H39 H40H4l |
94 H95H 96 H 97 H 98 H 99 H100-
450 H 60 H 70 H80H 90 H 100 H1 10}

=

N

©w

&~

3] calculate the following.

Ds5+3=[8| @0+5=[15| @s+5=
W0+9=49] ® 12+4=[16] ® 20+50=[70]
D 6-5= 1] ®@17-2=]15] @ 10-7=]3]
® 12-8=| 4] @ 79-9=[70] @ i00-60=]40]

iJ Answer the following questions. Write the math
sentences and find the answers.

1 | have 6 biscuits and my sister has 5 biscuits. How
many biscuits do we have altogether?

Math 6+5=1I Answer m biscuits

sentence
2 There are 12 eggs. My family used 9 of them. How

many eggs are left?
Answer eggs

Math o
sentence 12-9=3

3 There are |5 children here. Among |5 children, 7 of
them are boys. How many girls are there?

Math 15 —7=28 Answer girls

sentence

4 There are people lined up in a row. My father is the 5th
person from the front. There are 9 people behind him.
How many people are there altogether?

Math 54+ 9= |4 Answer people

sentence
Drawing a diagram makes it easier for you. Then count

how many people are there in front of “my father”.

171

172

Entire Grade-1 Review (2)

lJ Sort out the following shapes to the same categories.

(a) (b) ()

(f)| and |(h)| are D family.
(b)| and |(9)| are D family.

(@) | and |(c)| are Q family.

(d)| and | (e)| are A family.

2] Circle the same shape.
1 _ 2 _

olle(eld] [=l(=Am
3 —

g NI

1] Make different shapes using 4 pieces of k

1 2

ij Draw the following shapes by connecting the ¢ with

lines.

' ‘

L L L2 L L] L2 .

[ 2 - . . - . . *

L2 L L L] L .

. . . - . . *

[ 3 - . L 2 *

3 + ON

L L L2 L L L2 L] . [ L L L2 L2 L L2 L]
. L3 —4 L3 . L] [ 2 . . - - L3 L]

L 3 - I I - . [ 2 - . . *

. . . L] [ 2 - L2 . L3 L]

. . L2 =l L2 . ] [ . . L2 ]

173
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Measurement

Entire Grade-1 Review (3)

l] Circle the longer one.

— =

= =

y Compare the two sides. Which one is longer?
(a)

(b)

(a) | is longer.

3| Compare the lengths.

©)]  (b)is shorter than| (c)

(a) e [

(b)Y 1 ﬁ

(a) | is the shortest.

AJ There are containers with some water.
Which has the most?

(a) (b) (c)

has the most.

j] Compare the size of the four-sided shapes.
Circle the larger one.

i] Read the time.

1 2
o'clock |0 | o'clock
6 |o'clock iiHaIf past| | | |o'clock
6
.15 10 :55
8
S 44 Itis| 2 : 32

175

176

Data Utilization

Entire Grade-1 Review (4)

lJ Find out how many of each fruit and vegetable you have.

1 Tally them on the graph using a O .

%% R X

O

)

2 How many onions are there?

O

There are onions.

3 Which items are there the most of?

are the most.

L. O|O|O|O
@ O 0|0|0O|O
O

@ 000

2] Find out how many of each item are in a shop.

I
1 & 4@

Pen |Notebook| Scissors Calculator

1 How many erasers are there?

2 Which items are there the most of?

Notebooks |are the most.

3 Which items are there the least of?

Calculator |is the least.

4 How many more notebooks are there than pen?

|I| notebook.

There are erasers.

177
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APPENDIX: Addition and Subtraction Problems

Practice the following addition problems.

Do) ee ] s [e+ ] s+ [ex ] [7+1] [s+1][e+1]

[1+2][2+2][s+2][s+2][5+2][6+2][7+2][s+2]

[1+3][2+3][3+3][e+3][5+3][6+3][7+3]

[1+e][2ve][a+ra][s+e][5+4][6+4]

[1+5][2+5][3+5][s+5]|[5+5]

[1+6][2+6][s+6][s+6]

Practice the following addition problems.

[9+5][8+5][7+5][6+5]

[9+6][8+6][71+6][6+6]|[5+6]

[o+7][s+7][7+7][6+7][5+7][4+7]

[9+8][s+8][7+8][6+8]|[5+8][s+8]|[3+8]

[a+a][8+a]|[r+a][s+a][s5+a][s+a][3+q][2+9]

178

Practice the following subtraction problems.

[2= ] [a=v][s=1][s-1][e-1][7-1][8=1][a-1][0-1]

[3-2][«¢-2][s-2][6-2][1-2][s-2][e-2] [10-2]

[6-3][5-3][s-3][7-3][s-3][s-3][0-7]

[s-4][6-¢|[71-4][s-4][0-¢][10-4]

[6-5][7-5][s-5][7-5][10-5]

[7-6][8-¢][9-6][10-¢]

Practice the following subtraction problems.

[11-5][12-5| [13-5] [14-5]

[1=¢][12=6] [13-6] [14—6] [15-¢]

[=7][i2=7) [13=7] [lu=7] [15-7] [16-7]

[1-8][12-8] [13-8] [14-8] [15-8] [16—8] [17-8]

[1=9][1i2=9|[13=9] [1a-9] [15-9] [1e-9] [17-9] [18-9]

179
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